& | & ™ 4
{Qs V %3 ;. lc.
£ &

B B x & #

2 WZ

LINEAR GUIDEWAYS  BALL SCREWS
SUPPORT UNIT OF BALL SGREW LINEAR MODULE

$ m 3o W o> B

ABERABRMESE, USZURE, BHURMIE. FRRREFRRTEERERAZHF.

Note:the appearance and specification may be changed without prior notice only if the requirement improves performance

AR B NS BRERN - EEER



ZELir

BtOE - ®F F oo & FE K

LR E

LINEAR MDDOULE




I _Z K x c6-

-85- ZEL 5 s

1.3 MODEL NO. 1.4 Specification

My

CF 60 10 P - 150 B 2-K0 C " " 7 N

L ————— ¥
N S, S prETe
€3_ g i 1 7
C:Aluminum cover J|I' . 1'1 m m
CF SERIES B:Telescopic sheath e T & | + | &
f f { N | H '|
BALL SCREW LINEAR SLIDE RAIL
Basi Basic . .
Motor connecting flange dyr?asrlgic static danaaslll(’:}iC ftf{'icc
2 rlgt;gl ﬁ%t:c? ratedload  rated load o )
MODEL NO. ﬁ 5 (N) (N) (N) (N) PitchingMe (N-m)  SwingingMy (N-m) RollingMg (N-m)
MOdeI NO.:50,60,86,100,130 E o SUDING SUDING SLDING SLDING SUDING SLDING SUDING SUDING  SDING SLIDING SUDING SLIDING  SLIDING  SLIDING  SLIDING ~ SLIDING
> BLOCK ~ BLOCK  BLOCK  BLOCK  BLOCK  BLOCK  BLOCK  BLOCK  Block  BLOCK  BLOCK  BLOCK  BLOCK ~ BLOCK  BLOCK  BLOCK
(mm) (mm) B C B C B1 B2 c1 c2 B1 B2 C1 c2 Bi B2 C1 c2
P 735 1538
CF 4001 8 1 3920 - 6468 - 33 182 - - 33 182 - - 81 162 - -
C 676 1284
Number of slider. 2] 2136 3489
GF 5002 8 2 8007 - 12916 - 116 545 - - 116 545 - - 222 444 - -
C 1813 2910
P 3744 6243
CF 6005 12 5 13230 7173 21462 11574 152 760 72 367 152 760 72 367 419 838 241 482
Ball screw lead: C 3377 5625
P 2410 3743
CF 6010 12 10 13230 7173 21462 11574 152 760 72 367 152 760 72 367 419 838 241 482
. . C 2107 3234
Type of slider:
B : Standard P 7144 12642
X CF 8610 16 10 31458 21051 50764 29475 622 3050 166 1309 622 3050 166 1309 1507 3014 847 1694
C: Light load C 6429 11387
P 4645 7655
CF 8620 16 20 31458 21051 50764 29475 622 3050 166 1309 622 3050 166 1309 1507 3014 847 1694
Accuracy level: C 475 6889
P: Precision Level P 7046 12544
C: Common Level CF 10020 C 20 20 o o 39200 - 63406 - 960 4763 - - 960 4763 - - 2205 4410 - -
P 7897 15931
CF 13025 25 25 48101 - 84829 - 1536 7350 - - 1536 7350 - - 3885 77710 - -
C 7092 14352

Length of Rail:

CF40:100,150,200

CF50: 150,200, 250,300

CF 60:150,200,300,400,500,600
CF 86:340,440,540,640,740,940
CF 100:980,1080,1180,1280,1380
CF130:980,1180, 1380, 1680

# U B & ofi W K




1.5Level of Accuracy

Model no.

CF 40

CF 50

CF 60

CF 86

CF 100

CF 130

Rail Length

100
150
200
150
200
250
300
150
200
300
400
500
600
340
440
540
640
740
940
980
1080
1180
1280
1380
980
1180
1380
1680

Repeat positioning

Precision

+0.003

+0.003

+0.003

+0.003

+0.003

+0.003
+0.003

+0.005

+0.005

+0.005

+0.005

+0.007

Common

+0.01

+0.01

+0.01

+0.01

+0.01

+0.01
+0.01

+0.01

+0.01

+0.01

+0.01

+0.012

#

Positioning

Precision

0.020

0.020

0.020

0.025

0.025

0.030
0.040

0.035

0.040
0.045
0.050
0.035

0.040

0.050

- # & - kM K

Common

Walking parallelism

Precision

0.010

0.010

0.010

0.015

0.015

0.020
0.030

0.025

0.030
0.035
0.040
0.025

0.030

0.040

Common

Max start power(N-cm)

Precision

1.2

20
23
25
25

25

217

Common

0.8

10
10

1.6Maximum Speed

Model no.

CF 40

CF 50

CF 60

CF 86

CF 100

CF 130

Lead(mm)

01

02

05

20

20

25

Rail lengthL2(mm)

100
150
200
150
200
250
300
150
200
300
400
500
600
150
200
300
400
500
600
340
440
540
640
740
940
340
440
540
640
740
940
980
1080
1180
1280
1380
980
1180
1380
1680

# U B & ofi W K

Precision
190
190
190
270
270
270
270
550
550
550
550
550
340
1100
1100
1100
1100
1100
670
740
740
740
740
740
610
1480
1480
1480
1480
1480
1220
1120
980
750
510
440
1120
1120
830
550

Speed(mm/sec)

Common
190
190
190
270
270
270
270
390
390
390
390
390
340
790
790
790
790
790
670
520
520
520
520
520
430
1050
1050
1050
1050
1050
870
800
800
750
630
530
800
800
800
550




1.7 Life Calculations

When the linear sliding track bears the load and moves, the surface of the ballast track and the steel beads are
continuously subjected to cyclic stress. Once the critical value of rolling fatigue is reached, the contact
surface will begin to suffer fatigue damage, and the scaly flakes will peel off on some surfaces. This
phenomenon is called surface peeling. The service life is defined as the total operating distance of the
ballast surface and the steel balls when the surface peels off due to material fatigue.

1.7.1 Linear slide rail

3 L: rated life (km) C: basic dynamic rated load (N)
C Ft: Contact Factor (Reference Table 1) Pn: Workload (N)

Fw: Load factor (Reference Table 2)
) x 50 km

ft
fw Pn

L = (

1.9 Products of CF series:

Table 1 Type of slide carriage Contact factor ft
B1,C1 1.0
B1,C2 0. 81
Table 2

Working environment

Load factor (Ft)

Load condition Speed (V)
Non-impact & smooth Low speed V<15m/min 1.0 7 1.5
Common load Medium speed 15<V<60m/min 1.5 7 2.0
Impact and vibration High speed V>60m/min 2.0 7 3.5

1.7.2 Ball screw and bearing
1 Ca’

fw .Pa,n

L: Rated life(rotation number) Ca:Basic dynamic rated load (N)

) x 10° rev

L= (

1.8 Lubrication

If CF industrial robots are not properly lubricated, the friction of rolling parts will increase, and long-term use will become
the main reason for shortening life. Lubricants provide the following functions:

e Reduce friction of rolling parts, prevent burns and reduce wear.

e Forming oil film between rolling surface and rolling surface can prolong rolling fatigue life.

e Prevention of rust.

1.8.1 Lubricating grease

Fw: Load factor (reference table 2) Pa,n: Working load(N)

Although lubricating grease is not easy to lose, in order to avoid insufficient lubrication caused by lubrication loss, it is
suggested that customers should supplement lubricating grease once more when their use distance reaches 100 km. At this
time, grease can be injected into the slider by means of the oil nozzle attached to the slider. Lubricating grease is suitable for
applications where the speed is not more than 60 m/min and the cooling effect is not required.

_ 100 X 1000

T: Qil injection frequency (hour)

1.8.2 Nozzle structure diagram T Ve: speed (m/min)
Ve x 6o
Single slide Double slides Nozzle
@ & dlel+=21h® 4 { o ol =]+ il Lel+ o]l q»
—Eo - R
+ 4 A=+ =1 V4 T | o B[]+ e e+ o] ) He

Nozzle

& BB B 8% T -8 #

4-M4x0.7Px6.5DP 74
2-2-M2.5x0.45Px4DP. 47 2xn-@4.5 THRU,28x4DP
2-2-M3x0.5Px8DP 30
b ’/’/ . %/
CF50 <4 I L R S
[ e = E g
T, & Q= =1 & HeT X
25 12'5. h !/
50 R T 5m3x0.5Px4DP 15x1.3DP 5.7
SECION A-A K G
5 L2 5
L1
60
14 34
4-M3x0.5Px6DP. 116.5
PCD 33 10 10
\\g > — A
T &
2wy |, 7o \ glw U I H—— 1 WW* se
o] o‘ Q)\\\ IR “lc & i + b N
o T o) % il o i o il =
? —A 80 G 8
(n-1)x80
Unit:mm
Total Max travel range Total weight(Kg)
Rail length L ota - - £ G K - -
lengthll  SlideB1  Slide B2 SlideB1  Slide B2
150 220 70 = 35 80 2 1 =
200 270 120 55 20 160 3 1.2 14
250 320 170 105 45 160 & 1.4 1.6
300 370 220 155 30 240 4 1.6 1.8
82
C F 6 0 2xm-M2.5x0.45Px4DP 51 4-M5x0.8PX8DP
2x2-M3x0.5Px8DP 30 2xn-@5.5 THRU,29.5x4.7 DP
- JL
] i v ]
] ?Ej i © ] o elIs] :*é . 1 .
“I RR i’iml RER > /}, o8 5515 P& s E @
30 |15] i/ i
60 © [ 2:M2.5x0.45Px3DP 15x1.5DP CHE
SECION A-A K G
(m-1)xK
7 L2 7
L1
4-M3x0,5pF(':x§3: 11
e %, T A
@ ?P \%/A 9 : It - I qw 77—‘ )
RS ST [ : (s
o T 3/ 9 1 W W7 bif il
? 4-M4x0.7Px8DP m[ // L—A
PCD 40 =1 100 G
(n-1)x100
Unit:mm
Total Max travel range Total weight(K
RaillengthL 1% ‘ ang . K . | gnlke)
lengthLl  Slide B1 Slide B2 SlideB1 Slide B2
150 220 60 = 25 100 2 2 1.5 =
200 270 110 = 50 100 2 2 1.8 o
300 370 210 135 50 200 3 2 24 2.7
400 470 310 235 50 100 4 4 3 3.3
500 570 410 335 50 200 5 3 3.6 3.9
600 670 510 435 50 100 6 6 4.2 4.6
&£ B-% ® -%H I A




91- ZELr ' e 7 22
C F 86 sz-zz(g\ﬂfpi:l)oéiPmDP 2-M2.5x0.45Px4DP. 1‘7326 4-M6x1Px12DP .
- N [ 1.10 Motor base and motor mounting flange
—f% ¥ i ¥ v 4+
AN ® IEAEEAN: il 1 1.10.1 Comparison table of applicable motor
© F{m d X it = 4o P PP
A & | Qlellel e i F M
46 20, ad ,,;/ . . . .
o o5 || Mitsubishi Servo motor:
SECTION A-A i 200 H o
Output Applicable flange Brake . .
7 Motor Weight Drive weight Remarks
4-M5x0.8Px10DP 2 2:50 ROMWE CF40 CF50 CF60 CF86 CF100 CF130 (KG) 9
SN N o o 50W  HF-KPO53  0.35 K1 K1 K1 K2 - - 0.75 MR-J3S-10A 0.8 220V
3 ‘*‘\*K/'/‘**é g, ; = 100W HF-KP13 0.56 K1 K1 K1 K2 - - 0.89 MR-J3S-10A 0.8 220V
e, &Jé}"/& ol i b : AN i :
N o f LA 200W HF-KP23 0.94 = = = KO KO K1 1.6 MR-J3S-20A 0.8 220V
PE:D)(;D. b (n-1)x100 o =
L 400W HF-KP43 1.5 - - - KO KO K1 2.1 MR-J3S-40A 1 220V
L1
Unit:mm 750W HF-KP73 2.9 - - - - K1 K2 4 MR-J3S-70A 1.4 220V
) Total Max travel range Total weight(Kg)
Rail length L - - H n m ) )
length L1 Slide B1 Slide B2 Slide B1 Slide B2
340 440 210 100 70 3 2 5.7 6.5 .
Panasonic Servo motor:
440 540 310 200 20 4 3 6.9 7.7 Biau Motor _— Applicable flange Brake Drive N —
540 640 410 300 70 5 3 8.0 8.8 power B CFa0 cFs0 cFe0 86 CFl00 cF130 (KG)
640 740 510 400 20 6 4 9.2 10.0 50W  MSMD5AZP1 0.32 K2 K2 K2 K3 - - 0.53 MADDT1105 0.8 110V
740 840 610 500 70 7 4 10.4 1.2 50W  MSMD5AZP1 0.32 K2 K2 K2 K3 - - 0.53 MADDT1205 0.8 220V
940 1040 810 700 70 9 5 11.6 12.4 100W MSMDO11P1  0.47 K2 K2 K2 K3 - = 0.68 MADDT1107 0.8 110V
CE100 100W MSMDO12P1  0.47 K2 K2 K2 K3 - - 0.68 MADDT1205 0.8 220V
E—— Haspr 200W MSMDO021P1 0.82 - - - K1 - - 43 MADDT2110 1.1 110V
% \ / ; Sras
] d},ﬁz‘} I e @ /:/ﬂ ) T e s |0 & ﬂjmm 200W MSMDO022P1 0.82 = - = K1 - - 1.3 MADDT1207 0.8 220V
A [ |39 i 7 = N _ _ _ _ _
e ‘HQSH e T o s b %H 400W MSMDO041P1 1.2 K1 1.7 MADDT3120 1.5 110V
00 | |Sa! L 4
SECTION AR sl ! W B s 400W MSMDO042P1 1.2 - - - K1 - - 1.7 MADDT2210 1.1 220V
(m-1)x200
w 750W MSMD082S1 2.3 - - - K4 K2 K4 3.1 MADDT3520 1.5 220V
4-M5x0.8Px10DP 27, 45
88.5 PCD 70 32
22|
A F et y
N I 1 EI:“=‘_;( M 2|
|| \C\}/ — - - = Yaskawa Servo motor:
1 / = i = HaA i = Output i Weigh Applicable flange Brake Dri weight Rermarks
150 G 8| otor eight rive ma
ipiso power B CFa0 CFs0 CFe0  CF86 CFl00 cF130 (KG) E
L 50W SGMAV-A5ADA61 0.3 K1 K1 K1 K2 = = - SGDV-R70A01A 0.9  Withkey
unit:mm 50W  SGMAV-A5ADA2C 0.3 K1 K1 K1 K2 = = —  SGDV-R70A01A (.9 ‘Vithout
Rail length L Total Max travel range G H Total weight(Kg) ) : : key
all len n .
lengthll SlideB1 Slide B2 Slide B1  Slide B2 50W  SGMAV-A5ADA21 0.3 K1 K1 K1 K2 - — 0.75 SGDV-R70A01A 0.9 Mijjr';’{a"
SIED e — L U =l v 2 48 — 100W SGMAV-01ADA64 0.4 K1 K1 K1 K2 - - 0.89 SGDV-R90AOTA 0.9
1080 1189 928 800 15 40 8 6 203 220 200W  SGMAV-02ADA65 0.9 = = = KO KO K1 1.6 SGDV-1R6A01A 0.9
1180 1289 1028 900 65 90 8 6 22 23.7
400W  SGMAV-04ADA66 1.2 = = = KO KO KA1 2.1 SGDV-2R8A01A 1
1280 1389 1128 1000 40 40 9 7 23.6 25.3
750W SGMAV-08ADA67 2.6 - = = = K1 K2 4 SGDV-5R5A01A 1.5
1380 1489 1228 1100 15 90 10 7 25.3 27.0
‘BRI R XITEEMEBSREBEEEZTEENEE
# OUE - B OF oo B R # OUE - HF OF oot B E R




